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2A:

M S

B3 DIMAT B3 2
&elr XNSZM 243t (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OFSAIE cotv 8 =5 (24, 2E 2=)
600,000& =128 7,200
OsExE |FFMl & 228l 3,000
202 044l 3,000 3,000
01 =LHO LI 3,000 3,000
OXgdHE g2xd 3,000
203 SR =L 2,500 2,500
03 A= AR FAIH| 2,500 2,500
OZMuS AIX =&l 2,500
405 KHAHH SH 3,000 3,000
01 AL ESHSHI 3,000 3,000
OAlEaels =257 3,000
HSANE AIESUHSAISE 80,000 156,000 AT76,000
401 AIEHIZL R OHYI 80,000 106,000 26,000
01 AlZHI 80,000 106,000 226,000
OHEANE N2 72+ 22 80,000
HEANE SE HHIER0| 2L (EX) 63,244 61,948 1,296
< 11,110
s 52,134
307 212t01d 63,244 61,948 1,296
= 11,110
[ia 52,134
02 QIS EE 63,244 61,948 1,296
OHSAIE HAUFE HE2)|=201 2E(24
AIE) 27,748
S 3,700
ia 24,048
ONEAE HUF FEIER0| 2F(2E,
=AE) 35,49
= 7,410
s 28,086
HEANE EH5HEX) 13,200 18,000 24,800
307 212+01™ 13,200 18,000 24,800
02 QIS EX 13,200 18,000 A4,800
O2A322 AIEIIRH
22,000,000 *60% 13,200
HSANE SFMBH KA 6,000 7,400 1,400
= 2,538
[ias 3,462
307 212t01™ 6,000 7,400 A1,400
= 2,538
s 3,462
02 QI HAANEE X 6,000 7,400 A1,400
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2A:
X XH -
o e

=aak

ZH WS
geld oiuX ol &
OIUX = W

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

18,870
56,000

M H

74,870
18,870
56,000

103,380

A28,510

02 QIEX 2 AL E X (0IETHR)
OATHAUUH X = XIH AL

UMY

74,870
74,870
18,870
56,000

103,380

A28,510

NELENED I EXE

]

SAS

MO

3,600
1,800
1,800

5,600

A2,000

M H

3,600
1,800
1,800

3,600

01 At2teltl
OO0l X =t

=ong

Ot

2|

M

3,600
3,600
1,800
1,800

3,600

FHAHS HUHXISA

M A

92,000
58,200
33,800

36,600

401 Al HIZL S 0HYI

A A

92,000
58,200
33,800

55,400

36,600

0f
o=

=

=l
(o]

AHNE NURSIN(HASE)

OFHALAE HUXISXI(SXIAIAE)

I

oW

M

92,000
61,000
42,700
18,300
31,000
15,500
15,500

55,400

36,600

FHS HUHXSEE At

M

6,650
2,660
3,990

6,650

402 SI2ERHE0I M

A H

6,650
2,660
3,990

6,650

66,5002 * 100+

UMY

6,650

6,650
2,660
3,990

6,650
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2A:

E M

M S
geld UK ol &

C2lr OiHX 3= i EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NAAEUHEER B2 16,500 15,000 1,500

= 4,950
[ia 11,550
308 AHXIEMSOIE 16,500 15,000 1,500
= 4,950
[ia 11,550
18 2 BSUHE Z AR PISAIH] 16,500 16,000 1,500
OIAANEHEEX] 25
55,0003 *3002t = 16,500
S 4,950
T 11,550
LPGEI| AFEIt= A& ALY 9,000 33,750 N24,750
= 4,500
S 1,350
ia 3,150
308 AHXIHMSO0IA 9,000 33,750 N24,750
= 4,500
= 1,350
i 3,150
183 SIS0t 4R AS AL S| 9,000 33,750 A24,750
OLPGEI| AFZEIFT AIZIHE AL
225,000 400+ 9,000
= 4,500
= 1,350
i 3,150
S MAHAH = 435,600 409,300 26,300
== 107,000
[ia 328,600
SXSA lZet Jhg 435,600 409,300 26,300
= 107,000
[ia 328,600
JlgRi=dads KA 17,800 18,800 1,000
201 L= 17,800 18,800 1,000
01 AFS2t2ltl 17,800 18,800 1,000
OZEZ S48 daHE E2 & XFAl
B OHYMT} e 10,000
OJIg=X &= 4,000
OJlg20t RS 2 1,000
ORI ARET 2| 2,800
sSSEX 2el 2E 9,000 9,000 0
101 e124d| 8,000 8,000
04 JIRHNZZ2XSE S 8,000 8,000
O=ZER 837 eleg 8,000
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SN DS
M SN A =
=2l SNRX Qoet oY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,000 1,000
01 At2teltl 1,000 1,000
Os&HAl 2l 824 1,000
s3EX Zdl 13,000 20,000 A7,000
401 AlEHIZ S 0HHI 13,000 20,000 AT7,000
01 AlZH| 13,000 20,000 A7,000
Os3HA 25 0IEAE 25 & |2t 13,000
L5 s3HX FH(HEAY) 100,000 150,000 /50,000
< 50,000
Ea 50,000
401 Al HIZL S 0HYI 100,000 150,000 /50,000
S 50,000
= 50,000
01 Al&H| 100,000 150,000 50,000
Oz s3HX MY 100,000
= 50,000
[Ea 50,000
SAJHXE 53,300 65,000 A11,700
== 16,000
o 37,300
402 2I2E X201 & 53,300 65,000 A11,700
[ 16,000
T 37,300
02 QI T2 AL EE (01X THE) 53,300 65,000 A11,700
OsaIgY SFMEAY 53,300
= 16,000
= 37,300
HESADL oHI XA 30,000 14,000 16,000
308 AHAIEMSOIE 30,000 14,000 16,000
183 S| 2SI ZB&HASAIE 30,000 14,000 16,000
OFES LDt HBIES A2 30,000
sIgsdls sAAE 30,000 30,000
307 212+01™ 30,000 30,000
08 OIXtE2d= 30,000 30,000
OsAJIY |42 0|28 = KE A 30,000
s3HX 2dat XA 102,500 102,500 0
= 41,000
= 61,500
301 EtE N = 102,500 102,500 0
= 41,000
[Ea 61,500
4Bt 23 102,500 102,500 0
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2A:

o ENKE MATH 7=
=2l SNRX Qoet oY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Os3HAl 401 274l XY 102,500
= 41,000
= 61,500
HSE o4 AUESH IS Z2HME A 80,000 80,000
308 AtXIEMSOIE 80,000 80,000
18 SIS0t AS A 80,000 80,000
ONZH MM ANEDE XA Z2H
E XEA 80,000
IEHE Mol 1,479,133 751,731 727,402
= 571,012
< 310,386
s 597,735
axte| HE 1,479,133 751,731 727,402
= 571,012
== 310,386
[Ea 597,735
NEZSSH LRl AP (M EALY) 182,977 189,800 26,823
< 118,935
s 64,042
101 @124H| 185,530 163,323 2,207
= 101,095
= 54,435
MU IIRIMZZENSES 155,530 183,323 2,207
OXNSESSH LAeIAeg F0A 2 165,530
= 101,095
o 54,435
206 M=l 21,447 36,477 9,030
< 17,840
[Ea 9,607
01 MHZH| 27,447 36,477 29,030
OXSESSH LXelmed =4 27,447
S 17,840
= 9,607
Y & UBEHE 6,600 7,500 2900
201 eer23| 6,600 7,500 2900
01 AtR2t2lHI 6,600 7,500 A900
OclE, EdIIE MH S LAl R 3,000
Ogiiel g2 2323 7Y 1,800
OognielZE HRFA = 1,800
HFEFY X2AHY 16,800 25,200 28,400
= 6,720
o 10,080
307 el2tol & 16,800 25,200 A\8,400
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2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

6,720
10,080

M H

16,800
16,800

6,720
10,080

25,200

A\8,400

0=J18 S8AE

Mo

30,000
15,000

4,500
10,500

50,000

A20,000

307 212t01™

Ao

30,000
15,000

4,500
10,500

50,000

220,000

HH A

30,000
30,000
15,000

4,500
10,500

50,000

A20,000

M H

50,000
15,000
35,000

50,000

307 212t01™

M

50,000
15,000
35,000

50,000

Mo

50,000
50,000
15,000
35,000

50,000

M H

118,361
35,508
82,853

66, 166

52,195

307 212t01d

M H

118,361
35,508
82,853

66, 166

52,195

UMY

118,361
118,361
35,508
82,853

66, 166

52,195

M

92,640
42,240
50,400

113,400

A20,760

307 212t01™

92,640

113,400

220,760
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2A:

X XH -
o=

&l 2Xel = (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 42,240
s 50,400
02 2IZHB A E £ 92,640 113,400 N20,760
Ot MR N2 A 92,640
= 42,240
o 50,400
AESE FHPXNZAE 16,800 25,200 A\8,400
=S 6.720
s 10,080
307 @12t0| & 16,800 25,200 A8,400
< 6.720
[Ea 10,080
02 2B HAHE L 16,800 25,200 28,400
Otlsd HEXA 16,800
= 6,720
= 10,080
ZZJBHIE! 2S AL 800,000 0 800,000
= 500,000
& 71,000
= 229,000
307 lztol & 800,000 0 800,000
= 500,000
< 71,000
[Ea 229,000
02 2B HAHE L 800,000 0 800,000
O=2Z JBHIE SSAH 800,000
s 500,000
s 71,000
s 229,000
HE UeH0IS 2Xiel N3AY 20,737 0 20,737
308 XtXIEMSO0IE 20,737 20,737
18 SISOt EAS A 20,737 20,737
OFY LicHoIS LAtel KIZAE 20,737
Y LiHoISSelAa 2Xtel XZAHY 4,79 4,79
308 AHXIEMSOIE 4,7% 4,79
18 SIS0t EAS A 4,7% 4,7%
OFY LicHolsSelA LRl XA 4,7%
NEEst AL Ar 63,526 0 63,526
[ 30,863
= 4,733
[Ea 27,930
201 eer23y| 7,500 0 7,500

_238_




A BHuSH
BH: DI A4
Chelr gxtel ¥E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,750
=S 750
s 3,000
03 A= 7,500 0 7,500
OXSASs Al Arg (BAL2EHI) 7,500
[ 3,750
= 750
Ea 3,000
307 21201 & 56,026 0 56,026
[ 27,113
= 3,983
Ea 24,930
02 2B YAIHE A 56,026 0 56,026
OXNSHSat HHL S A 56,026
[ 27,113
= 3,983
= 24,930
24 Y FGAF Z2HE 75,898 0 75,898
[ 25,149
= 5,030
= 45,719
307 elztol & 75,898 0 75,898
= 25,149
< 5,030
= 45,719
02 LB HAHE L 75,898 0 75,898
Ogd dd FgAA Z2HE 75,898
= 25,149
== 5,030
[Ea 45,719
s 53 oty 348,491 561,922 A213,431
[ 31,515
= 5,411
= 311,565
ARRIE0f 2 Xte|0He 348,491 561,922 A213,431
= 31,515
< 5,411
T 311,565
S3STZAY 298,954 282,258 16,696
101 @124H| 297,454 280,458 16,996
M ORIMZZ2NSE S 297,454 280,458 16,99
OSEI =AY HOIA 212 297,454
201 er2 3| 1,500 1,800 2300
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2A:
X XH -
o e

=aak

Ofl &F2H

MEE
Ofl &k2h

1,500
1,500

1,800

Mo

25,000
18,750
1,880
4,370

196,000

171,000

307 212told

HH A

25,000
18,750
1,880
4,370

196,000

A171,000

HOH

25,000
25,000
18,750
1,880
4,370

196,000

A171,000

>
tou
Jd
oy
=

FESH LI X2 AHY

HOH

24,537
12,765
3,531
8,241

65,664

AN 127

307 212+01&

Mo A

24,537
12,765
3,531
8,241

65,664

N4 27

Mo

24,537
24,537
12,765
3,531
8,241

65,664

N 127

nsSAHIA &

oo
J@

A =

=Tl

S~

M

7,980,318
117,360
777,000
102,300

1,066,036

5,917,622

8,504,990

Nb24,672

o
o
£
o
1
e
g

o
oo
0

=Tl

S

M

6,980,318
117,360
777,000
102,300

1,066,036

4,917,622

5,957,490

1,022,828

wE HMAIL XI&

744,969

899,860

A 154,891

101 @124H|

78,000

78,400

A400

04 JIZtHN2Z2 X S8+

78,000

78,400

A400
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SA: FHDSD
M NSAHIA SESEHAH A=
ol Hsus FUES skt (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ODISZRE5 1% &AL
50,000,000 #20H 2 100,000
= 30,000
Ea 70,000
OdEA0IHZ HHIAY 124,666
== 37,400
o 87,266
NALNSHHMSZNL(NHE0IESRA, L2857 490,000 200,000 290,000
PONSHE S)(HEAL)
= 245,000
o 245,000
401 AlEHIZ S 0HbI 490,000 200,000 290,000
= 245,000
[Ea 245,000
01 AlZ2H| 490,000 200,000 290,000
OO0l 2s 7Y AEZIHE A
122,500,000 #4H 2 490,000
== 245,000
[Ea 245,000
F=XHERENE XA (A EALY) 300,000 140,000 160,000
= 300,000
401 AIEHIZ SR THYI 300,000 140,000 160,000
== 300,000
01 Al&H| 300,000 140,000 160,000
OFXEZHEAS (FE iold JaSs
ot) 300,000
=S 300,000
SEFIE ZEAE E 2el 18,000 18,000
307 el2to| & 18,000 18,000
05 2I2HRIE S 18,000 18,000
OYASLFXE 25 22l 18,000
SEHOIE ZHIAE 19,000 6,000 13,000
307 @I2t01 & 19,000 6,000 13,000
0 2FSHEXS 19,000 0 19,000
OSsgHAHLIE Holg K&
527, 77T 3«3 2120 19,000
SAled =AY 1,767,000 1,700,000 67,000
= 530,000
= 1,237,000
307 el2tol & 1,767,000 1,700,000 67,000
= 530,000
Ea 1,237,000
QB 2=gHEXS 1,767,000 1,700,000 67,000
O8Nl =224 1,767,000
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2A:

M S

M NSAHIA SESEHAH A=
e Uisws FUEe) g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 530,000
s 1,237,000
HATHE K& A 1,201,075 910,380 290,695
= 193,116
Ea 1,007,959
307 gl2to| & 1,201,075 910,380 290,695
=S 193,116
s 1,007,959
09 2FHHEXS 1,201,075 910,380 290,695
OANUHsSEHA HE XA 1,201,075
< 193,116
[Ea 1,007,959
nNSAHAE Jl=HE =8 50,000 110,000 260,000
207 ARl 50,000 110,000 260,000
01 H1E4H] 50,000 110,000 60,000
OYAZ SHEHA LB AXIEAL 20,000
Ogaz sHEHA AHZA 10,000
OMIBAt BHAISE HPAES 20,000
WSA OlsE STAY 473,992 252,157 221,835
= 66,500
Jl 102,300
s 305,192
307 @I2to| & 473,992 252,157 221,835
= 66,500
Il 102,300
o 305,192
05 212t =S 473,992 252,157 221,835
OSEuS=t 2g4| Xd 473,992
= 66,500
Jl 102,300
= 305,192
EAIZRL K& 13,000 13,000 0
= 3,900
s 9,100
307 @I2t01 & 13,000 13,000 0
= 3,900
[Ea 9,100
0 2= HEXS 13,000 13,000 0
O=Al =St 2AAHY 13,000
= 3,900
= 9,100
SOHEXNSE S. 05 SSEAIAY 228,600 228,600 0
= 152,400

_243_




SN [ImE==n];

D WSMHIA EEH 2=
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 76,200
307 gl2tol & 228,600 228,600 0
=S 152,400
s 76,200
00 2FSHEXS 228,600 228,600 0
OsHE SSsd SSEAl XEA 228,600
< 162,400
Ea 76,200
H=nsS0l8 WsSAL XA 21,000 23,000 22,000
307 elztol & 21,000 23,000 22,000
09 2s-gAHAELES 21,000 23,000 A2,000
OUEunS0IE WSAL KA 21,000
SHEHA HERSH 403,012 402,875 137
307 @120l & 403,012 402,875 137
0 2=EHEXS 403,012 402,875 137
Os0EHA HERsH &A2as 403,012
BARs Jteso8 A2 AY 4,567 15,600 A11,033
[ 1,370
T 3,197
307 elztol & 4,567 15,600 A11,033
= 1,370
= 3,197
09 2+ AELES 4,567 15,600 11,033
OHARS Herg KA 4,567
= 1,370
Ea 3,197
OAXSAH BEI0IE EHIAY 31,200 0 31,200
== 9,360
o 21,840
402 2I2E X201 & 31,200 0 31,200
< 9,360
= 21,840
02 QI X2 AL EE (01X THE) 31,200 0 31,200
OWAUTISXE BH0IE EHIAIS 31,200
= 9,360
= 21,840
ZABIS XIE A 30,228 27,937 2,291
308 AtAIEHMSOIE 30,228 27,937 2,291
183 S| 2SS ZBHASAIE 30,228 27,937 2,291
OZY HAHBAAH =AY RXNES 30,228
nS2A M KA 7,568 8,600 1,032
307 212+01& 7,568 8,600 1,032
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e Uisws FUEe) g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 60,000 60,000 0
O2=+HOIE f&=aH| 60,000
401 AlEHIZ S 0HBI 18,000 20,000 22,000
01 AlZH| 18,000 20,000 A2,000
O2=H012 A& 18,000
NE2HA Holete XA 6,400 12,000 A5,600
= 960
= 960
Ea 4,480
301 EtE NS 6,400 12,000 A5,600
= 960
= 960
= 4,480
4 IIEt2 83 6,400 12,000 A5,600
O 28t Hoighe X2 AY 6,400
= 960
== 960
= 4,480
BASHEZ ALY 2SE A 549 689 A140
308 AHXIEMSOIH 549 689 A140
18 SIS0t HAS A 549 689 A140
OHA2HE D22 A 2SEA 549
SEHAEDIE 2SAA 74,160 72,360 1,800
307 @120l & 74,160 72,360 1,800
09 2FHHEXS 74,160 72,360 1,800
OZEHAHDNIE 2SN
2,060,000 * 1294 Z 304 2= 74,160
SgussH T2 XA 92,000 96,000 24,000
= 46,000
== 23,000
o 23,000
405 KHaHE SH] 92,000 96,000 24,000
= 46,000
S 23,000
o 23,000
01 TR ESFSHI 92,000 96,000 24,000
OEf2usS=t g4l XA 92,000
= 46,000
= 23,000
Ea 23,000
SEHQ AsAtetl 1,000,000 2,547,500 1,547,500
S 2x X& 1,000,000 2,500,000 1,500,000
307 21201 & 1,000,000 2,500,000 1,500,000

_246_




of
i’
oF
uJ

P EEE CEF PR I FER F FIF FIE R FIE
. > |o|S|o|a|a | a|< Slels|a o |~
) SR Il Il e I 319 SRR & 5|5
ENE
E=)

() [N Nl

g |RIFI8I5]3 818 |[BIR |S|EIE|E)2
_._._Hﬁ:m LIL|IL|I22 A RN RN 8|88 |83
= |2
m |~
RIS

N D "o NY'oN YoM NYe]

8 EI8|8|8|8|3 3 BISIR 8IBIB BIRIEIR|RIE S8 €I818 §

s g|8|8|8|2|2 = V|=|= 2|°|° ~|g|g|g|v|es 88 B|pz b
ar |- -
<
S

o

SN

x

o
oir S 20 5l 5l
£ = = = ®
Al 8 S 51 5
. o = =
3l ol R R
< = g I+
It N ) i) i)
=% __Mgm __Lg._m * wWooF
~ _ Q%0 Qg
= ] i LY I = o o 2

) ? T al |2 = 2 o
8o |z] |5 = & o klwio s =5 |amn
F I ] (mlele @ _ |0 =[] [ o K| K
o) | O :z_m_ WlE[Z = Ko R EE R SIR[R o M <z |M0[K =z
N Foa = o e el N = = T O e O = o R R Il s R
S [l =4 B I 0 - N = R T I e A O = s 1 ol [ AL
L BN I Alzlor 3 @SS | =B Alanfeo w23 |a <
K b Ok |5 Wolon|= %0 MD|= |fr 0 |[3D|DF RO|K W |= [k O = oMo |~ Oino
° QOmom_\w_11OOZ1OSMOO|@__A_._=E1SO o O — |l O
X |= 30 |%|= |87 S| ° < wix|=|o| < 8|
il g 0K | W | RO | &) | RO
R~ oF | T
% =

- 247 -



